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The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
O PPTIRY T fi

(@) What is the relation among mean,
median and mode?

TS, YN HF IETT 377 F 9

(b) Write True or False :
51 7 gy B

Mean and ~ variance of Poisson
distribution are equal.

RSN IGT IS T AN AN = |
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(2)

(c) Show that P(A)=1- P(A).
CiYSA @ P(A) =1 - P(A).

(d) Write True or False :
o1 1 gy o

If A and B are two independent events,
then P(Au B)=P(A)x P(B).

MM A WF B FoF WAl W, SGRE
P(AU B) = P(A)x P(B).

(e} Define random sampling.

g =ifemfq et faan |

() Write the mean and variance of binomial
distribution.

oM I T T 2P T

(g9 What is scatter diagram?
a4F foq R 2

(h) Mention any one property of Poisson
distribution.

5 IDF R FIear @bt & SeE 749 |

( Continued )

i)

G

2. Answer the following questions :

(3)
What is zero correlation?
1 RTEE f2

Mention any one merit of simple random
sampling.

YR IR Aferis R @rear «o1 IR Scaw
1

2x5=10

wolq RIS Oeq fud :

(@)

(b)

(c)

@

Define positive and negative correlation.
T B R ssrges e |

Distinguish between arithmetic mean
and harmonic mean,

NART TC SF [T Toq e e 2,

Distinguish  between linear and

non-linear correlation.
IRT T IF-TTTIIR WER AN o |
N

State the addition theorem of probability.

| IR @5 Sgeh! SraER 39 |
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(4) (5)

(e) g 2 ind B are two events and suppose (c) Define the following :
(4)=0-4, P(B)=P and P(AUB)=0.7, woTs AT T
find the value of P if A and B are i T
independent.
o pe () Mutually exclusive events
A TF B W W W w9 2H 7T RS Lol

P(A)=0-4, P(B)=P W% P(AUB)=0-7. ’
3t A W% B yog w51 =, (og Py NN el () Equally likely event
M : TSI <A

(d) If A and B are two ihdependent events,

3. Answer any four of the following questions : prove that A and B are also independent

5x4=20 events.
ST PRI R e vk Ty fgy - ‘ M A SF B FOF BNl T, o909 I T A A
" B a1 ypre ¥oF |
(a) Write three merits and two demerits of ’
Karl P ’ ; .
carson's correlation coefficient. | (¢) Explain Poisson distribution with its
I PR s e R e foRe! probability mass function.
R =i o 5’(’113’“ foran *iow IBe R SIRCR 7 T (p.m.f)A
TCS R0 40 |
(b) Distinguish between the following :
oS fRAPTRI “Nd@ o - ' () A card is drawn from a pack of well
@ P ‘ d . shuffled pack of cards. What is the
arameter and statistic probability that it is either a queen or a
A%a I Afomfe spade?
(i) Population and sampling o E;'; ;I: ﬁl I qz,::qu v =,
R aAfmef R 7
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(6)

4. Answer any four of the following questions :

10x4=40

o 2P R el wibrR s i

(@)

(b)

(c)

(d

(e)

A25/27

(i) What is stratified random sampling?
TIFo s AfSsdw 2

(i) Discuss the merits and demerits of
stratified random sampling. 3+7=10

Qe Ifes 2AfeaR JRa = =PRY

AT 91 |
Explain the main properties of binomial

distribution.

e I Y CIFBPTR TR 7 1

Explain the main sfeps of sample survey.

2! AT 24N “RAEPTE 00 541 |

State and prove the multiplicative
theorem of probability.

FoIROR %9 ©EH! IS SF 21T 39 |

Distinguish between sampling and
non-sampling error. Sample survey is
more advantageous than the complete
enumerator. Explain. 2+8=10

( Continued )

()]

(7)

A S wWF JAREN FHY TER e
forr1 ofomf Sqwr ol aamrete wfe
RYrES | AT F4 |

Show that in Poisson distribution mean
is equal to variance.

2T FF @ RN IHT© S HF &€ T F |

A bag contains 3 red, 6 white and 7 blue
balls. 3 balls are drawn at random. Find
the probability of the following :

9B ®¥S 31 8, 651 I WF 75 Tew w+
R | Ol 3B I9 TodiEr 2 | TS AR

- eIk Refy 3/

A25/27

() All are white balls
IBREIZH! 9 QIR TRl

(i) All are of same colour

BRI GF 361 (TN IR

What is meant by correlation? Write the
properties of Karl Pearson’s correlation
coefficient. Calculate Pearson’s
correlation coefficient of marks obtained
by five students in Economics and
Statistics as given below : 2+3+5=10

TR [ w2 el Picrased TR S
ol B ofvem war WIS W
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(8)
ARRURE=Ne wae fimagd CIRI 99 <1

icEIes ST e N w9 -

Marks in Economics Marks in Statistics

GRS T ARPRIREAT 757

48 45

35 20

17 40

23 25

47 45
* % %
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